w0
~
a4
<
a
DN
o
RS
=
Ly
Q.
W
)
tn
NS
Q
KN
Qx
L
Ly
~
tn

fjuo sasodind uonELWIOJUI 10j PAsSN 248 JUSLUNJOP SIY] Ul papn|oul ejep pue siaquinu jied ‘suondussap jonpoid ||y
Jipljbewe |bjig a>apes 13|49 aA LIB|BIBLINU BAlEd ‘LUBjEWE|YISE UnIN WD IYEPUBLLNYOP NG XK

SINILI M3N




[ =
{» T&XNOROT

TEKNOROT REF: B-1043 ADAPTABLE  BMW
Tie Rod

‘_

Weight: 0,673 Length: 233  Bolt Metric: M14X1,5 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
2-SERIES ACTIVE
TOURER uo6 2021- Front 32105A1F917, 32106A1F916
TEKNOROT REF: B-1043 ADAPTABLE BMW
Tie Rod

‘_

Weight: 0,573 Length: 233  Bolt Metric: M14X1,5 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

X1 ut1 2022- Front 32106A1F917, 32106A1F916

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: CD-1034
Ball Joint

ADAPTABLE CADILLAC

Weight: 0,65 Length: 119  Bolt Metric: M14X2

MODEL NO BODY YEAR DIRECTION OEM NO

CTS 2nd Gen 2008-2014 Front Lower 19329437

TEKNOROT REF: CH-1076 ApAPTABLE CHEVROLET

Stabilizer Bar Link

P—

Bolt Metric: M10X1,5

Weight: 0,252 Length: 151

OEM NO

MODEL NO BODY YEAR DIRECTION

BLAZER 3rd Gen 2018- Rear 84012690

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: CH-1076
Stabilizer Bar Link

4

Weight: 0,252 Length: 151  Bolt Metric: M10X1,5

MODEL NO BODY YEAR

XT4 1st gen 2019-

TEKNOROT REF: CH-1076
Stabilizer Bar Link

4

Weight: 0,252 Length: 151  Bolt Metric: M10X1,5

MODEL NO BODY YEAR

XT5 1st Gen 2017-

ADAPTABLE CADILLAC

DIRECTION

Rear

OEM NO

84012690

apaPTABLE CADILLAC

DIRECTION

Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

84012690



e —
{» T&XNOROT

TEKNOROT REF: CH-1076
Stabilizer Bar Link

;

Weight: 0,252 Length: 151  Bolt Metric: M10X1,5

MODEL NO BODY YEAR

XT6 1st Gen 2020-

TEKNOROT REF: CH-1076
Stabilizer Bar Link

;

Weight: 0,252 Length: 151  Bolt Metric: M10X1,5

MODEL NO BODY YEAR

LACROSSE 3rd Gen 2017-

ADAPTABLE CADILLAC

DIRECTION

Rear

DIRECTION

Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

84012690

ADAPTABLE BUICK

OEM NO

84012690



e —
{» T&XNOROT

TEKNOROT REF: CH-1076
Stabilizer Bar Link

;

Weight: 0,252 Length: 151  Bolt Metric: M10X1,5

MODEL NO BODY YEAR

ACADIA 2nd Gen 2017-

TEKNOROT REF: CH-1076
Stabilizer Bar Link

;

Weight: 0,252 Length: 151  Bolt Metric: M10X1,5

MODEL NO BODY YEAR

INSIGNIA Z18 2018-2020

ADAPTABLE GMC

DIRECTION

Rear

OEM NO

84012690

ADAPTABLE QPEL

DIRECTION

Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

84012690




{$ T=NOoROT

TEKNOROT REF: CH-1116 ApAPTABLE CHEVROLET
Stabilizer Bar Link ZR2 Model / 4WD

Weight: 0,363 Length: 277  Bolt Metric: M10X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
COLORADO 2nd Gen 2012-2022 Front 23389030
TEKNOROT REF: CI-1003 ApAPTABLE CITROEN

Tie Rod

e ———

Weight: 0,496 Length: 287,5 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

C4 C41 2020- Front 1680446280

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: CI-1003 apAPTABLE CITROEN
Tie Rod

e ———

Weight: 0,496 Length: 287,5 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
C4X C43 2022- Front 1680446280
TEKNOROT REF: DO-444 ADAPTABLE DODGE
Ball Joint USA Type / 4WD
e YEAR ONLY
5 1995-1999

-

Weight: 0,67 Length: 93,5 Bolt Metric: 3/4" 16G UNF

MODEL NO BODY YEAR DIRECTION OEM NO

K8194T, 14032427, 14039008,

RAM 1500 2nd Gen 1994-2001 Front Upper 3633949

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: DO-444 ADAPTABLE FORD
Ball Joint USA Type / 4WD

-

Weight: 0,57 Length: 93,5 Bolt Metric: 3/4" 16G UNF

MODEL NO BODY YEAR DIRECTION OEM NO
K8194T, 14032427, 14039008,
BRONCO 3rd Gen 1980-1996 Front Upper 3633949
TEKNOROT REF: DO-444 ADAPTABLE FORD
Ball Joint USA Type / 4WD
&

-

Weight: 0,567 Length: 93,6 Bolt Metric: 3/4" 16G UNF

MODEL NO BODY YEAR DIRECTION OEM NO

K8194T, 14032427, 14039008,

F-100 7th Gen 1980-1983 Front Upper 3633949

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: DO-444
Ball Joint USA Type / 4WD

ADAPTABLE FORD

-

Weight: 0,57 Length: 93,5 Bolt Metric: 3/4" 16G UNF

MODEL NO BODY YEAR DIRECTION OEM NO
K8194T, 14032427, 14039008,
F-250 7th Gen 1980-1986 Front Upper 3633949

TEKNOROT REF: DO-444 ApAPTABLE FORD

Ball Joint USA Type / 4WD

", YEAR ONLY
. 1980-1981

-

Weight: 0,67 Length: 93,5 Bolt Metric: 3/4" 16G UNF

MODEL NO BODY YEAR DIRECTION OEM NO
K8194T, 14032427, 14039008,
F-350 7th Gen 1980-1986 Front Upper 3633949

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




e —
{» T&XNOROT

TEKNOROT REF: DO-444 ADAPTABLE GMC
Ball Joint USA Type / 4WD

-

Weight: 0,57 Length: 93,5 Bolt Metric: 3/4" 16G UNF

MODEL NO BODY YEAR DIRECTION OEM NO
JIMMY 1st Gen 1973-1982 Front Upper K8194T, 14;) ; 32 ; 92 475’9 14039008,
TEKNOROT REF: DO-444 ADAPTABLE JEEP
Ball Joint USA Type / 4WD

-

Weight: 0,67 Length: 93,5 Bolt Metric: 3/4" 16G UNF

MODEL NO BODY YEAR DIRECTION OEM NO

K8194T, 14032427, 14039008,

SCRAMBLER CJ-8 1981-1985 Front Upper 3633949

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: F-1024

Ball Joint for vehicles with stabiliser

% bar
I, a —
Weight: 0,69 Length: 122,75 Bolt Metric: M18X1,5
MODEL NO BODY YEAR DIRECTION
DAILY 6th Gen 2014- Front
TEKNOROT REF: F-1058
Control Arm and Ball Joint 4x4
Weight: 1,37 Length: 77,5 Bolt Metric: M10X1,25
MODEL NO BODY YEAR DIRECTION
PANDA 141 1980-2003 Front
COMPONENTS NUMBER NAME DIRECTION
A F-1034 Suspenson  Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE [VVECO

2023

OEM NO

5801378063

ADAPTABLE [FIAT

OEM NO

5976943

OEM NO

5976943




/A TXNOROT T

\;’“J STEERING 6 SUSPENSION PARTS

TEKNOROT REF: FD-BS237 ApAPTABLE FORD

Control Arm Bushing

Weight: 0,307 Length: 50,5

MODEL NO BODY YEAR DIRECTION OEM NO
Front Lower LB5Z3078A%, LB5Z3079A%,
EXPLORER 625 2020- Rearward LB523078B* LB523079B*
COMPONENTS NUMBER NAME DIRECTION OEM NO
[ S FO-118 Control Arm Front Right LB5Z3078A
== FO-119 Control Arm Front Left LB573079A
TEKNOROT REF: FO-121 ADAPTABLE FORD
Tie Rod End From 28.05.2018

|§i

Weight: 0,409 Length: 108 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

TRANSIT CONNECT 2nd Gen 2013- Front Right 2252867, KV6C3C367AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-122 ADAPTABLE FORD

Tie Rod End From 28.05.2018
-M

o

Weight: 0,409 Length: 108 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

&—-ﬂ

MODEL NO BODY YEAR DIRECTION OEM NO
TRANSIT CONNECT 2nd Gen 2013- Front Left 2252870, KV6C3C437AA
TEKNOROT REF: JA-1128 ApAPTABLE JAGUAR
Lateral Arm

@T"" 3 T— 6
» L

Weight: 2,15 Length: 398,4

MODEL NO BODY YEAR DIRECTION OEM NO

XK X150 2006-2014 Front Lower C2P17091

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: KI-748 ADAPTABLE KA

Lateral Arm

JP

Weight: 1,235 Length: 302

MODEL NO BODY YEAR DIRECTION OEM NO

SORENTO UM 2015-2020 Rear Upper 55100C5050
TEKNOROT REF: LA-301 ApAPTABLE | AND ROVER
Tie Rod End

L

-

Weight: 0,66 Length: 133,5 Bolt Metric: M14X2 Housing Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

RANGE ROVER L460 2022- Front LR162107

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{5 T&’\NOROT

TEKNOROT REF: LX-361 ADAPTABLE | EXUS

A

Weight: 0,75 Length: 196 Bolt Metric: M12X1,25 Housing Metric: M15X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
LS460 XF40 2007-2017 Front Right ES800316, 4546059085
TEKNOROT REF: LX-362 ADAPTABLE | EXUS
Tie Rod End USA Type / RWD
)

__

Weight: 0,75 Length: 196  Bolt Metric: M12X1,25 Housing Metric: M15X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

LS460 XF40 2007-2017 Front Left ES800315, 4547059095

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: LX-371 ADAPTABLE | EXUS
Tie Rod End RWD

—

Weight: 0,73 Length: 226  Housing Metric: M15X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
GS200t 2013- Front Right 4546330190
TEKNOROT REF: LX-371 ADAPTABLE | EXUS
Tie Rod End RWD
YEAR ONLY
2013-
—
Weight: 0,73 Length: 226  Housing Metric: M15X1,5
MODEL NO BODY YEAR DIRECTION OEM NO
GS300 L10 2011-2020 Front Right 4546330190

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: LX-371

Tie Rod End RWD
Weight: 0,73 Length: 226  Housing Metric: M15X1,5
MODEL NO BODY YEAR DIRECTION
GS350 L10 2013- Front Right
TEKNOROT REF: LX-371
Tie Rod End RWD
YEAR ONLY
2013-
Weight: 0,73 Length: 226  Housing Metric: M15X1,5
MODEL NO BODY YEAR DIRECTION
GS450h L10 2011-2020 Front Right

r2023

ADAPTABLE | EXUS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4546330190

ADAPTABLE | EXUS

OEM NO

4546330190



e —
{» T&XNOROT

TEKNOROT REF: LX-371
Tie Rod End

—

Weight: 0,73 Length: 226  Housing Metric: M15X1,5

MODEL NO BODY YEAR

1S200t XE30 2014-

TEKNOROT REF: LX-371
Tie Rod End

—

Weight: 0,73 Length: 226  Housing Metric: M15X1,5

MODEL NO BODY YEAR

1S250 XE30 2014-

ADAPTABLE | EXUS

2023

DIRECTION

Front Right

OEM NO

4546330190

ADAPTABLE | EXUS

DIRECTION

Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4546330190



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: LX-371
Tie Rod End

Weight: 0,73 Length: 226  Housing Metric: M15X1,56

MODEL NO BODY YEAR

1S300 XE30 2014-

TEKNOROT REF: LX-371
Tie Rod End

Weight: 0,73 Length: 226  Housing Metric: M15X1,5

MODEL NO BODY YEAR

1S350 XE30 2014-

ber 2023

ADAPTABLE | EXUS

DIRECTION

Front Right

OEM NO

4546330190

ADAPTABLE | EXUS

DIRECTION

Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4546330190



{$ T=NOoROT

TEKNOROT REF: LX-371
Tie Rod End

—

Weight: 0,73 Length: 226  Housing Metric: M15X1,5

MODEL NO BODY YEAR

RC XC10 2015-

TEKNOROT REF: LX-372
Tie Rod End

R

Weight: 0,73 Length: 226  Housing Metric: M15X1,5

MODEL NO BODY YEAR

GS200t 2013-

ADAPTABLE | EXUS

DIRECTION

Front Right

RWD

OEM NO

4546330190

ADAPTABLE | EXUS

DIRECTION

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4546430090



e —
{» T&XNOROT

TEKNOROT REF: LX-372
Tie Rod End

ADAPTABLE | EXUS

OEM NO

4546430090

ADAPTABLE | EXUS

RWD
YEAR ONLY
2013-
Weight: 0,73 Length: 226  Housing Metric: M15X1,5
MODEL NO BODY YEAR DIRECTION
GS300 L10 2011-2020 Front Left
TEKNOROT REF: LX-372
Tie Rod End RWD
Weight: 0,73 Length: 226  Housing Metric: M15X1,5
MODEL NO BODY YEAR DIRECTION
GS350 L10 2013- Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4546430090



TEKNOROT REF: LX-372 ADAPTABLE | EXUS
Tie Rod End RWD
YEAR ONLY
2013-
Weight: 0,73 Length: 226  Housing Metric: M15X1,5
MODEL NO BODY YEAR DIRECTION OEM NO
GS450h L10 2011-2020 Front Left 4546430090
TEKNOROT REF: LX-372 ADAPTABLE | EXUS
Tie Rod End
Weight: 0,73 Length: 226  Housing Metric: M15X1,5
MODEL NO BODY YEAR DIRECTION OEM NO
1S200t XE30 2014- Front Left 4546430090

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: LX-372
Tie Rod End

Weight: 0,73 Length: 226  Housing Metric: M15X1,56

MODEL NO BODY YEAR

1S250 XE30 2014-

TEKNOROT REF: LX-372
Tie Rod End

Weight: 0,73 Length: 226  Housing Metric: M15X1,5

MODEL NO BODY YEAR

1S300 XE30 2014-

ADAPTABLE | EXUS

DIRECTION

Front Left

OEM NO

4546430090

ADAPTABLE | EXUS

DIRECTION

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4546430090



-
{5 TXNOROT

TEKNOROT REF: LX-372
Tie Rod End

Weight: 0,73 Length: 226  Housing Metric: M15X1,56

MODEL NO BODY YEAR

1S350 XE30 2014-

TEKNOROT REF: LX-372
Tie Rod End

Weight: 0,73 Length: 226  Housing Metric: M15X1,5

MODEL NO BODY YEAR

RC XC10 2015-

ADAPTABLE | EXUS

DIRECTION

Front Left

OEM NO

4546430090

ADAPTABLE | EXUS

DIRECTION

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4546430090



{$ T=NOoROT

TEKNOROT REF: LX-478

Control Arm and Ball Joint

-
[/ —_—
Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

GS200t 2013-

TEKNOROT REF: LX-478

Control Arm and Ball Joint

-
/ ——
o<l

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

GS300 L10 2011-2020

ADAPTABLE | EXUS

DIRECTION

Rear Right

OEM NO

4870530120

ADAPTABLE | EXUS

DIRECTION

Rear Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4870530120




TEKNOROT REF: LX-478 ADAPTABLE | EXUS

Control Arm and Ball Joint

e

o @

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO
GS350 L10 2013- Rear Right 4870530120
TEKNOROT REF: LX-478 ADAPTABLE | EXUS

Control Arm and Ball Joint

e

o @

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO

GS450h L10 2011-2020 Rear Right 4870530120

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: LX-478

Control Arm and Ball Joint

e

[ — o .

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

1S200t XE30 2014-

TEKNOROT REF: LX-478

Control Arm and Ball Joint

e

[ — o .

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

1S250 XE30 2014-

ADAPTABLE | EXUS

DIRECTION

Rear Right

OEM NO

4870530120

ADAPTABLE | EXUS

DIRECTION

Rear Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4870530120



7
O ENaRAOT

TEKNOROT REF: LX-478

Control Arm and Ball Joint

e

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

1S300 XE30 2014-

TEKNOROT REF: LX-478

Control Arm and Ball Joint

e

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

1S350 XE30 2014-

ber 2023

ADAPTABLE | EXUS

DIRECTION

Rear Right

OEM NO

4870530120

ADAPTABLE | EXUS

DIRECTION

Rear Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4870530120



e —
{» T&XNOROT

TEKNOROT REF: LX-478

Control Arm and Ball Joint

.
Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

RC XC10 2015-

TEKNOROT REF: LX-479

Control Arm and Ball Joint

w’r -
T 3 1
Wf’
Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

GS200t 2013-

ADAPTABLE | EXUS

2023

DIRECTION

Rear Right

OEM NO

4870530120

ADAPTABLE | EXUS

DIRECTION

Rear Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4870630050



[ =
{» T&XNOROT

TEKNOROT REF: LX-479

Control Arm and Ball Joint

- y
. i-_ o . "‘.g

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

GS300 L10 2011-2020

TEKNOROT REF: LX-479

Control Arm and Ball Joint

- y
. i-_ o . "‘.g

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

L10 2013-

GS350

ADAPTABLE | EXUS

DIRECTION

Rear Left

OEM NO

4870630050

ADAPTABLE | EXUS

DIRECTION

Rear Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4870630050



e
{5 TXNOROT

TEKNOROT REF: LX-479

Control Arm and Ball Joint

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

GS450h L10 2011-2020

TEKNOROT REF: LX-479

Control Arm and Ball Joint

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

1S200t XE30 2014-

ber 2023

ADAPTABLE | EXUS

DIRECTION

Rear Left

OEM NO

4870630050

ADAPTABLE | EXUS

DIRECTION

Rear Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4870630050



STEERING 6 SUSPENSION PARTS

e 5 T&XNOROT

TEKNOROT REF: LX-479

Control Arm and Ball Joint

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

1S250 XE30 2014-

TEKNOROT REF: LX-479

Control Arm and Ball Joint

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

1S300 XE30 2014-

ber 2023

ADAPTABLE | EXUS

DIRECTION

Rear Left

OEM NO

4870630050

ADAPTABLE | EXUS

DIRECTION

Rear Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4870630050



A TXNOROT

k STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: LX-479

Control Arm and Ball Joint

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

1S350 XE30 2014-

TEKNOROT REF: LX-479

Control Arm and Ball Joint

Weight: 1,295 Length: 451  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

RC XC10 2015-

ber 2023

ADAPTABLE | EXUS

DIRECTION

Rear Left

OEM NO

4870630050

ADAPTABLE | EXUS

DIRECTION

Rear Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

4870630050



ry
{5 T=NOROT

TEKNOROT REF: MA-1038

Control Arm and Ball Joint

_i
Weight: 1,19 Length: 288  Bolt Metric: M14X1,5

MODEL NO BODY YEAR

MX-5 ND 2015-

TEKNOROT REF: MA-1039

Control Arm and Ball Joint

H
Weight: 1,19 Length: 288  Bolt Metric: M14X1,5

MODEL NO BODY YEAR

MX-5 ND 2015-

ADAPTABLE MIAZDA

DIRECTION

Rear Right

OEM NO

NE5128600B

ADAPTABLE MIAZDA

DIRECTION

Rear Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

NE5128650B




TEKNOROT REF: MA-1118

Lateral Arm

~

Weight: 1,763 Length: 250,5

ADAPTABLE MIAZDA

MODEL NO BODY YEAR DIRECTION OEM NO

2007-2015 Rear Upper TD1128C10

CX-9 B

TEKNOROT REF: MA-131 ADAPTABLE MIAZDA

Tie Rod End

< _AARN

Weight: 0,365 Length: 96  Bolt Metric: M12X1,25 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

TRIBUTE 1st Gen 2001-2006 Front E11232280

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: MA-131 ApAPTABLE FORD
Tie Rod End

—t

Weight: 0,365 Length: 96 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
MAVERICK 1st Gen 2001-2007 Front E11232280
TEKNOROT REF: N-1448 ADAPTABLE RENAULT

Control Arm and Ball Joint

Weight: 2,919 Length: 363

MODEL NO BODY YEAR DIRECTION OEM NO
AUSTRAL RHN 2022- Front Right 545006UAOA
Lower
COMPONENTS NUMBER NAME DIRECTION OEM NO
3 NI-BS168 Control Arm | FrontLower | o\ cn06/0A* 545016UACA*
Bushing Inner
- ] Ni-BS169 | COonfrolAm i FrontLower gy 5n061a0 545016UA0A*
Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

SUSPENSION PARTS

k) STEERING B

TEKNOROT REF: N-1449

Control Arm and Ball Joint

Weight: 2,919 Length: 363

MODEL NO BODY
AUSTRAL RHN
COMPONENTS NUMBER
$ NI-BS168
- NI-BS169

TEKNOROT REF: NI-BS168

Control Arm Bushing

Weight: 0,172 Length: 50

MODEL NO BODY
AUSTRAL RHN
COMPONENTS NUMBER
r N-1448

§ N-1449

ADAPTABLE RENAULT

OEM NO

545016UAOA

OEM NO

545006UAOA*, 545016UAOA*

545006UAOA*, 545016UAOA*

ADAPTABLE RENAULT

YEAR DIRECTION
2022. Front Left
Lower
NAME DIRECTION
Control Arm Front Lower
Bushing Inner
Control Arm Front Lower
Bushing Outer
YEAR DIRECTION
2022- Front Lower
Inner
NAME DIRECTION
Suspension Front Right
Control Arm Lower
and Rall .Inint
Suspension Front Left
Control Arm Lower

and Rall .Inint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

545006UA0A*, 545016UA0A*

OEM NO

545006UAOA

545016UAOA



e —
{» T&XNOROT

TEKNOROT REF: NI-BS169

Control Arm Bushing

Weight: 0,621 Length: 73
MODEL NO BODY YEAR DIRECTION
AUSTRAL RHN 2022- Fr Ogtu ﬁ:;”er
COMPONENTS NUMBER NAME DIRECTION
r' Suspension - gront Right
£ N-1448 Control Arm L oweg
and Ball .loint
* Suspension Front Left
% N-1449 Control Arm Lower
and Ball .loint

TEKNOROT REF: PO-568

Lateral Arm

Weight: 0,586 Length: 317

MODEL NO BODY YEAR DIRECTION
TAYCAN 1st Gen 2019- Rear Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

2023

ADAPTABLE RENAULT

OEM NO

545006UA0A*, 545016UA0A*

OEM NO

545006UAOA

545016UA0A

ADAPTABLE PORSCHE

OEM NO

941501529



ry
{5 T=NOROT

TEKNOROT REF: PO-568 ADAPTABLE AUDI

Lateral Arm GT Version

Weight: 0,586 Length: 317

MODEL NO BODY YEAR DIRECTION OEM NO
E-TRON 1st Gen 2018- Rear Lower 941501529
Forward
TEKNOROT REF: R-1028 ADAPTABLE RENAULT

Control Arm and Ball Joint

Weight: 2,05 Length: 325

MODEL NO BODY YEAR DIRECTION OEM NO
KWID BW 2017- Front Right ~ 545005792R, 555013187R
COMPONENTS NUMBER NAME DIRECTION OEM NO
‘ N-440 Ball Joint Front AT oo THAOCY
8 e ST o ST
e Re-BS133 | SO %:;m Front Outer | 2420007021, 50001316

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: R-1028

Control Arm and Ball Joint

Weight: 2,05 Length: 325

MODEL NO BODY YEAR DIRECTION
SPRING 2020- Front Right
COMPONENTS NUMBER NAME DIRECTION
‘ N-440 Ball Joint Front
s RE-BS132 | COMrOlAmM 1t nner
Bushing
é RE-BS133 ControI'Arm Front Outer
- Bushing
TEKNOROT REF: R-1029
Control Arm and Ball Joint
Weight: 2,05 Length: 325
MODEL NO BODY YEAR DIRECTION
KWID BW 2017- Front Left
COMPONENTS NUMBER NAME DIRECTION
‘ N-440 Ball Joint Front
8 RE-BS132 | COMOlAMM 1 bt Inner
Bushing
- RE-BS133 | COMrolAmM ot Outer
- Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE DACIA

OEM NO

545005792R, 555013187R

OEM NO
545001HAOC*, 545011HAOC™,
545003VUOA*

545005792R*, 5565013187R",
545013512R*

545005792R*, 5565013187R",
545013512R*

ADAPTABLE RENAULT

OEM NO

545013512R

OEM NO
545001HAOC*, 545011HAOC?,
545003VUOA*™

545005792R*, 5655013187R*,
545013512R*

545005792R*, 555013187R*,
545013512R*



Ve

TEKNOROT REF: R-1029 apapTalE DACIA

Control Arm and Ball Joint

4
F
£

Weight: 2,05 Length: 325

MODEL NO BODY YEAR DIRECTION OEM NO
SPRING 2020- Front Left 545013512R
COMPONENTS NUMBER NAME DIRECTION OEM NO
" N-440 Ball Joint Front 54500”—;'223;’337;50(:] HAOC",
.
ot RE-BS133 C‘;’Zg %:; ™ Frontouter | °*%0%° 2325’3 1 355512%3 167K
TEKNOROT REF: RE-BS132 ADAPTABLE RENAULT

Control Arm Bushing

Weight: 0,126 Length: 40

MODEL NO BODY YEAR DIRECTION OEM NO
KWID BW 2017- Front Inner 5450052325’3 ; 3555;5;??13 187R”,
COMPONENTS NUMBER NAME DIRECTION OEM NO
r R-1028 aig”;;o/; ﬁm . Front Right 545005792R, 555013187R
1 R-1029 aig”;;o/; ﬁm . FrontLeft 545013512R

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

TEKNOROT REF: RE-BS132 apAPTABLE DACIA
Control Arm Bushing

4
F
£

Weight: 0,126 Length: 40

MODEL NO BODY YEAR DIRECTION OEM NO
SPRING w0 Frontier | SSO0STR: SEOTSIETR:
COMPONENTS NUMBER NAME  DIRECTION OEM NO
r R-1028 a(;‘;”é;ol; ’jc: 7; . Front Right 545005792R, 555013187R
1 R-1029 a(;‘;”é;"l; f]\(: 7; . FrontLeft 545013512R
TEKNOROT REF: RE-BS133 ADAPTABLE RENAULT

Control Arm Bushing

-
-, -

Weight: 0,108 Length: 36

MODEL NO BODY YEAR DIRECTION OEM NO
545005792R*, 555013187R*,
KWID BW 2017- Front Outer 545013512R*
COMPONENTS NUMBER NAME DIRECTION OEM NO

R-1028 Control Arm &t Right 545005792R, 555013187R
and Ball Joint

Control Arm
‘ R-1029 and Ball Joint Front Left 545013512R

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt 2025

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: RE-BS133 apAPTABLE DACIA

Control Arm Bushing

bt
-

Weight: 0,108 Length: 36

MODEL NO BODY YEAR DIRECTION OEM NO
545005792R*, 555013187R*,
SPRING 2020- Front Outer 545013512R"
COMPONENTS NUMBER NAME DIRECTION OEM NO
r Control Arm .
R-1028 and Ball Joint Front Right 545005792R, 555013187R
1 Control Arm
R-1029 and Ball Joint Front Left 545013512R
TEKNOROT REF: RA-146 ADAPTABLE RAM
Stabilizer Bar Link

Weight: 0,655 Length: 164,5 Bolt Metric: M14X1,5
MODEL NO BODY YEAR DIRECTION OEM NO

1500 5th Gen 2019- Front 68399868AE

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: SU-1008 apaPTABLE SUBARU

Control Arm and Ball Joint

| -
Weight: 6,63 Length: 409 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
ASCENT WM 2019- Front Right 20202XC00A
Lower
COMPONENTS NUMBER NAME DIRECTION OEM NO
é SU-154 Ball Joint Front Lower 20206XA001
TEKNOROT REF: SU-1008S ApApTABLE SUBARU
Control Arm

e d

Weight: 6,285 Length: 409

MODEL NO BODY YEAR DIRECTION OEM NO
ASCENT WM 2019- Front Right 20202XCO0A*
Lower
COMPONENTS NUMBER NAME DIRECTION OEM NO
i SU-154 Ball Joint Front Lower 20206XA001

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: SU-1009

Control Arm and Ball Joint

h |

—*g
Weight: 6,63 Length: 409

Bolt Metric: M14X1,5

MODEL NO BODY YEAR
ASCENT wm 2019-
COMPONENTS NUMBER NAME
6 SU-154 Ball Joint
TEKNOROT REF: SU-1009S
Control Arm
Weight: 6,285 Length: 409
MODEL NO BODY YEAR
ASCENT WM 2019-
COMPONENTS NUMBER NAME
Ball Joint

é SU-154

ApAPTABLE SUBARU

DIRECTION

Front Left
Lower

DIRECTION

Front Lower

OEM NO

20202XCO01A

OEM NO

20206XA001

ADAPTABLE SUBARU

DIRECTION

Front Left
Lower

DIRECTION

Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

20202XCO1A*

OEM NO

20206XA001



{$ T=NOoROT

TEKNOROT REF: SU-808

Control Arm and Ball Joint

Weight: 0,865 Length: 296  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

FORESTER SK 2019-
COMPONENTS NUMBER NAME
® #1241 g

TEKNOROT REF: SU-808

Control Arm and Ball Joint

Weight: 0,865 Length: 296  Bolt Metric: M12X1,25

MODEL NO BODY YEAR
IMPREZA GK/GT 2017-2023

COMPONENTS NUMBER NAME
’ SB 1241 C‘;’Zg ‘,’7’;‘; m

ApAPTABLE SUBARU

DIRECTION

Rear Forward

DIRECTION

Rear Right
Lower

OEM NO

20250FL010

OEM NO

Part of 2020FG020

ADAPTABLE SUBARU

DIRECTION

Rear Forward

DIRECTION

Rear Right
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

20250FL010

OEM NO

Part of 2020FG020



\'lE(NDRDT
x.) B s

TEKNOROT REF: SU-808

Control Arm and Ball Joint

Weight: 0,865 Length: 296  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

LEGACY 2020-

COMPONENTS NUMBER NAME
3 sarzer | O

TEKNOROT REF: SU-808

Control Arm and Ball Joint

Weight: 0,865 Length: 296  Bolt Metric: M12X1,25

MODEL NO BODY YEAR

OUTBACK BT 2020-

COMPONENTS NUMBER NAME
3 sz Ol

ApAPTABLE SUBARU

023

DIRECTION

Rear Forward

DIRECTION

Rear Right
Lower

OEM NO

20250FL010

OEM NO

Part of 2020FG020

ADAPTABLE SUBARU

DIRECTION

Rear Forward

DIRECTION

Rear Right
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

20250FL010

OEM NO

Part of 2020FG020



Lt

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: SU-808 apaPTABLE SUBARU

Control Arm and Ball Joint

&

Weight: 0,865 Length: 296  Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO
XV GT 2018-2023 Rear Forward 20250FL010
COMPONENTS NUMBER NAME DIRECTION OEM NO
? SB 1241 Control Arm - Rear Right Part of 2020FG020
b Bushing Lower
TEKNOROT REF: T-101 ADAPTABLE TOYQOTA
Tie Rod End

3

Weight: 0,607 Length: 181

Bolt Metric: M12X1,25 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

YARIS XP210 2020- Front Right 45046WB002

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: T-102 apaPTABLE TOYOTA
Tie Rod End

:

Weight: 0,607 Length: 181  Bolt Metric: M12X1,25 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
YARIS XP210 2020- Front Left 45047WB002
TEKNOROT REF: T-1144 ADAPTABLE TOYQOTA
Ball Joint

Weight: 0,705 Length: 88,4 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

COROLLA CROSS XG10 2022- Front Lower 4333009C10

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



